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General Instructions :

(i)
(ii)

(ii1)

(iv)

(v)

(vi)

(vii)

329

Please read the instructions carefully.

This question paper consists of 24 questions in two Sections : Section A

and Section B.

Section A has Objective type questions whereas Section B contains

Subjective type questions.

Out of the given (6 + 18) = 24 questions, a candidate has to answer

(6 + 11) = 17 questions in the allotted (maximum) time of 3 hours.

All questions of a particular section must be attempted in the correct
order.

Section A : Objective Type Questions (30 marks) :

(a)  This section has 6 questions.

(b)  There is no negative marking.

(c) Do as per the instructions given.

(d)  Marks allotted are mentioned against each question/part.

Section B : Subjective Type Questions (30 marks) :
(a)  This section has 18 questions.

(b) A candidate has to do 11 questions.

(c) Do as per the instructions given.

(d)  Marks allotted are mentioned against each question/part.

Section A
(Objective Type Questions) (30 Marks)

Answer any 4 questions out of the given 6 questions on Employability
Skills. 4x1=4

(i)  Which of the following is a negative motivator ?
(a) Promotion (b) Pay
(c) Bonus (d) Demotion
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(ii)

(iii)

(iv)

(v)

(vi)

EE
E

Sofia is an internally motivated student. Why would she complete

her work ?

(a) To complete the assignments in her own interest
(b) To avoid punishment

(c) 'To gain reward

(d) To be absent from the class

Different ways in which filtering can be done in Calc are :
(a) Autofilter, Standard filter

(b) Autofilter, Sub-standard filter

(c) Filter, Sub-standard filter

(d) Autofilter, Below-standard filter

Ravita works on a worksheet. She wants to select all the data at

once. Which shortcut will she use ?
(a) Ctrl+S (b) Ctrl+ A
(¢ Ctrl+V (d) Ctrl+C

Which is defined as an unpleasant feeling triggered by the

perception of danger, real or imagined ?
(a) Unhappiness (b) Anger
(c)  Frustration (d) Fear

Which of the following is not an entrepreneurial trait ?
(a) Creativity

(b) Fear

(¢) Confidence

(d) Passion
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2. Answer any 5 out of the given 7 questions. 5x1=5
i) Who among the following is the principal regulator of the securities

market ?
(a) SEBI (b) RBI
(¢ MCA (d) DEA
(ii) The broker’'s maximum brokerage charge is on the CM
segment.
(a) 16% (b) 2%
() 2:5% (d) 5%

(iii)  Which of the following is not a consequence of expulsion ?
(a) Office vacated
(b) Fulfilment of contracts
(c) Trading members not to deal with suspended trading member

(d) Trading membership rights forfeited

(iv) Who provides a scheme for enabling the trading member to
surrender their membership to the exchange ?

(v)  Within how many days, should every TM make payments to his
clients or deliver the securities purchased of pay-out unless the
client has requested otherwise ?

(vi)  Find out the act of misconduct :
(a) Circulation of rumours
(b) Dishonoured cheque
(c) Fraud or fraudulent act
(d) Circulation of half-truth

(vii)) At which age can an individual become a sub-broker ?
(a) 18 years (b) 21 years
(c) 22years (d) 20 years
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3. Answer any 6 out of the given 7 questions. 6x1=6

1)

receives end-of-day reports for all the dealers under that
branch.

(a) Branch Clerk

(b) Branch Deputy Manager
(c) Branch Manager
(d) Auditor

(ii) In which session of market phase does the order matching period

start ?
(a) Pre-open-session (b)  Post-open session
(c) Mid-open session (d) Both (b) and (c)
(iii))  Which information is not displayed on Market Watch window ?
(a) Best buy price (b) Best sell price
(c) Last traded price (d) Auction is over

(iv) The name of the trading system which provides NEAT users with a
facility to create offline order entry file for a selected portfolio is :

(a) One item trading
(b) Basket trading
(c) Two items trading

(d) Multiple trading
(v)  Write any one special feature of the Activity log.
(vi)  What does ‘S’ indicate in terms of an auction ?

(vii) Post close market timings are :
(a) 3:30 pm to 4:00 pm
(b) 3:00 pm to 3:30 pm
(c) 3:40 pm to 4:00 pm
(d) 12 noon to 5:00 pm
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4. Answer any 5 out of the given 6 questions. 5x1=5
i) Write any one function of Clearing Bank.

(i1)  In Direct pay-out facility, the time limit for submission of files is up

to__ on pay-out day.
(a) 10:30 am (b) 9:30 am
(¢) 10:00 am (d) 9:00 am

(iii)  Who conducts a buying-in auction for securing shortages ?

(a) NSE (b) SEBI
(c) NSCCL (d) RBI
(iv) ISIN code is a digit alphanumeric code.
(a) 10 (b) 11
(0 12 d 13

(v)  When does replacement cost risk arise ?

(vi)  What is meant by Beneficial Owner ?

5. Answer any 5 out of the given 6 questions. 5x1=5

i) Who is responsible for safeguarding the documentary evidence title
of property like share certificate etc. ?

(a) Custodian
(b) Clearing member
(c) Trading member
(d) Agent
(i1)  Authorised capital is also known as :

(a) Nominal capital
(b) Issued capital
(c)  Subscribed capital
(d) Called-up capital
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(iii)  Which of the following is not a financial statement of a company ?
(a) Income statement
(b)  Position statement
(c) Cash Flow statement

(d) Auditor’s report

(iv) Which of the following is not part of the shareholders’ funds ?
(a) Equity share capital
(b) Preference share capital
(c) Reserves and Surplus

(d) Debentures

(v)  Current Ratio is a measure of :
(a) Liquidity
(b) Solvency
(c) Efficiency
(d) Profitability

(vi) 9" in the formula of Compound Interest stands for :
(a) Amount of interest
(b) Interest rate
(c) Amount

(d) Principal
6. Answer any 5 out of the given 6 questions. 5x1=5

(1) Future Contracts are :
(a) SEBI Traded
(b) Exchange Traded
(c) Non-exchange Traded
(d) Money market Traded
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(ii1) A spread that is designed to earn profit if the price goes down is
called :

(a) Bear spread

(b) Bull spread

(¢) Linear payoff

(d) Non-linear payoff

(iii)  Future offers :
(a) Non-linear payoff
(b) Linear payoff
(c) Both (a) and (b)
(d) Vertical payoff

(iv) The price that is agreed upon at the time of the contract for a

specific future date is called :
(a) Current price

(b) Market price

(c)  Future price

(d) Share price
(v)  What do you mean by lack of centralization of trading ?

(vi)  Risk associated with overall market returns is called :
(a) Business risk
(b) Trade risk
(¢) Market risk
(d) Exchange risk
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Section B

(Subjective Type Questions) (30 Marks)

Answer any 3 questions out of the given 5 questions on Employability Skills.
Answer each question in 20 — 30 words. 3x2=6

7. Why is self-motivation important ?
8. State any two basic personality traits.

9. Why have spreadsheet programs become very popular ? Write any two of

their features.

10. State any two common fears that can be seen in entrepreneurs.

11. What do you understand by goal setting ?

Answer any 3 out of the given 5 questions in 20 — 30 words each. 3x2=6

12. Explain the following :

(a) Competitor

(b)  Solicitor
13. State any two functions of Clearing Bank.
14. Give any two differences between Secured and Unsecured loans.
15. Explain Option Contract.

16. Give any two main differences between Commodity and Equity index

futures.
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Answer any 2 out of the given 3 questions in 30 — 50 words each.

17. Briefly explain about any three market segments.

18. What do you mean by NEAT ? Explain any one of its features.

19. State any three features of ‘Direct pay-out to investor’.

Answer any 3 out of the given 5 questions in 50 — 80 words each.
20. Explain any two consequences of suspension.

21. Explain in detail :
(a)  Corporate Manager

(b)  Branch Manager

22. Explain the Capital Adequacy Requirements of a trading investor.

23. Explain the following :
(a) Hedgers
(b)  Arbitrageurs

24. Explain any four salient features of Forward Contract.
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